=5 4Y/HIE o[0ix|

=3 Fof 28| S Ly AE s Wz
RAL 7021 RAL 2004 RAL 1021 RAL 3020
wz = somee etot ol
RAL 6032 RAL 5017 RAL 7035

© HEINRICH KIPP WERK GmbH & Co. KG

ks

HE &Y.

QA ZHME HEHOZ Qe & F {IXI7F Hels WE XISt
I A ELct.

&= HHE 180° E2/H &= Elo
EI- J\ OI7.||EI|__||:|.

g H7' &2 &3 Hi7t o] fIx[of ™ E|o{ & Elo| Hel IXIZ &
o2 HEHE RXISHES &fLICH.

&
L)
Jdo
i

n
fe
o
Jdo
Rall
i
rII
ox

ok i

THEL:

&= Hi 1.0508.
AE| LIAF &2|E al 7 2 =

= B —-

otad A= 2l 1.4310.

H =
a3 ut A Ertad =X PA

#EM O]
LIAL &2l & HH A8 02 2|8 &2 .
a3, ook &A™ M otRelE & E EL
Ao 2 nhRE|E ¢S AT E
|.o|=o|- AH77I-o| KI-:L l:||- '=||-|
- 22 3|A RAL 7021.
- TEAM RAL 2004.
- B2 3 RAL 1021.
- A3 5 Wz A RAL 3020.
- A9 =M RAL 6032.
$ S T}EHAH RAL 5017.
t &|A RAL 7035.

Rl
Ml

o ol

ol 0|

(%)

1

r
r

Q-I-I

KI-:I. HI‘E 180° EE|I:£| Jéll-
Eobas| 2| B E b 2
o7I- AE|I:|'— K'Ed HX

lo| ¢leH fIx|IZ Sot=.

I
—
MeEr 4 ol

%2 Al E L.

021 W oj

AL

AHAE HH.
HMAME:

EEHOl*' £ & K0638.
EZXMNY '='é3' K1290, K1839, K1840.

www.kipp.com - info@kipp.com 1/5



°
bl
Sz} olHA SR, EfRI C
=M
@ L1
|
\' ':nl '
v |
SWi
i ]
™ |
~J | !
K |
xx | |
1 ogg T
D1
EZ= 29
FEHS Eted TFHE MY D D1 D2 L L1 L3 B BT H Fx30° SWI1 Aﬁr Erd
ERS =
F12E. N F22 N
K1679.060410 C 43| RAL 7021 4 M10 10 39,5 26,3 15 10,9 49 6 1 10 8 14
K1679.060510 c 43| RAL 7021 5 M10 10 39,5 26,3 15 10,9 49 6 13 10 8 14
K1679.060610 c 42| RAL 7021 6 M10 10 39,5 26,3 15 109 49 6 1,8 10 8 14
K1679.0604101 C 43| RAL 7021 4  M10x1 10 39,5 26,3 15 10,9 49 6 1 10 8 14
K1679.0605101 c 43| RAL 7021 5 M10x1 10 39,5 26,3 15 109 49 6 1,3 10 8 14
K1679.0606101 c 42| RAL 7021 6 M10x1 10 39,5 26,3 15 10,9 49 6 18 10 8 14
K1679.060512 C 43| RAL 7021 5 M12 12 484 31,1 19 129 57 8 1,3 12 8 15
K1679.060612 C 43| RAL 7021 6 M12 12 484 3111912957 8 18 12 8 15
K1679.060812 C 42| RAL 7021 8 M12 12 484 31,1 19 129 57 8 23 12 8 15
K1679.0605121 C 43| RAL 7021 5 M12x1,5 12 484 31119 129 57 8 13 12 8 15
K1679.0606121 c 43| RAL 7021 6 M12x1,5 12 484 3111912957 8 1,8 12 8 15
K1679.0608121 c 42| RAL 7021 8 M12x1,5 12 484 31119 12957 8 23 12 8 15
K1679.060616 C 43| RAL 7021 6 M16 16 62,3 415 26 166 7 10 18 16 15 35
K1679.060816 c 43| RAL 7021 8 M16 16 62,3 41526 166 7 10 23 16 15 35
K1679.061016 c 43| RAL 7021 10 M16 16 62,3 41,526 166 7 10 28 16 15 35
K1679.0606161 C 43| RAL 7021 6 M16x1,5 16 62,3 41526 166 7 10 18 16 15 35
K1679.0608161 c 43| RAL 7021 8 M16x1,5 16 62,3 41526 166 7 10 2,3 16 15 35
K1679.0610161 c 43| RAL 7021 10 M16x1,5 16 62,3 41,5 26 166 7 10 28 16 15 35
K1679.060820 C 43| RAL 7021 8 M20 20 72,3 51,3 30 20,5 8,5 12 23 20 20 60
K1679.061020 c 43| RAL 7021 10 M20 20 72,3 51,3 30 20,5 8512 2,8 20 20 60
K1679.061220 c 43| RAL 7021 12 M20 20 72,3 51,3 30 2058512 3 20 20 60
K1679.0608201 C 43| RAL 7021 8 M20x1,5 20 72,3 51,3 30 20,5 85 12 23 20 20 60
K1679.0610201 c 43| RAL 7021 10 M20x1,5 20 72,3 51,3 30 20,5 8512 2,8 20 20 60
K1679.0612201 C 43| RAL 7021 12 M20x1,5 20 72,3 51,3 30 20,5 8512 3 20 20 60
K1679.0604102 C F0{ 2#IX| RAL2004 4 M10 10 39,5 26,3 15 10,9 4,9 6 1 10 8 14
K1679.0605102 C Fo{ 23IX| RAL 2004 5 M10 10 39,5 26,3 15 10,9 49 6 13 10 8 14
K1679.0606102 C F0{ 2BIX| RAL 2004 6 M10 10 39,5 26,3 15 10,9 49 6 1,8 10 8 14
K1679.06041012 C F0{ 2BX|RAL2004 4 M10x1 10 39,5 26,3 15 10,9 4,9 6 1 10 8 14
K1679.06051012 C Fo{ 2EIX| RAL 2004 5 M10x1 10 39,5 26,3 15 109 49 6 1,3 10 8 14
K1679.06061012 C F0{ 2&IX| RAL 2004 6 M10x1 10 39,5 26,3 15 109 49 6 1,8 10 8 14
K1679.0605122 c F0{ 2BIX| RAL 2004 5 M12 12 484 3111912957 8 13 12 8 15
K1679.0606122 C Fo{ 2BIX| RAL 2004 6 M12 12 484 3111912957 8 18 12 8 15
K1679.0608122 C Fo0{ 2&IX| RAL 2004 8 M12 12 484 31,1 19 129 57 8 23 12 8 15
K1679.06051212 c F0{ 2BIX| RAL 2004 5 M12x1,5 12 484 3111912957 8 1,3 12 8 15
K1679.06061212 c Fo0{ 2#IX| RAL 2004 6 M12x1,5 12 484 31119129 57 8 1,8 12 8 15

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/5



© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

°
el
Sz} olHA SR, EfRI C
EZS 29
FEHS Eted THE MY D DI D2 L L1 L3 B BT H Fx30° SW1 A% B
Bty S=E
F19% N F29. N
K1679.06081212 C F0{ Q#X[RAL2004 8 M12x15 12 484 31,119 129 57 8 23 12 8 15
K1679.0606162 C F0{ @IX|RAL2004 6 M16 16 62,3 41,526 166 7 10 18 16 15 35
K1679.0608162 C fo{ Q@X|RAL2004 8 M16 16 62,3 41,526 166 7 10 23 16 15 35
K1679.0610162 @ f0o{ Q@X|RAL2004 10 M16 16 62,3 41,526 166 7 10 28 16 15 35
K1679.06061612 C F0{ Q@IX|RAL2004 6 M16x1,5 16 62,3 41,526 166 7 10 18 16 15 35
K1679.06081612 @ f0{ Q@X|RAL2004 8 M16x1,5 16 62,3 41,526 166 7 10 23 16 15 35
K1679.06101612 @ f0{ Q@IX|RAL2004 10 M16x1,5 16 62,3 41,526 166 7 10 28 16 15 35
K1679.0608202 C fo{ 2#X|RAL2004 8 M20 20 723 513 30 205 8512 23 20 20 60
K1679.0610202 @ f0{ Q@X|RAL2004 10 M20 20 72,3 51,330 205 8512 28 20 20 60
K1679.0612202 @ f0{ Q@X|RAL2004 12 M20 20 72,3 51,3 30 205 8512 3 20 20 60
K1679.06082012 C F0{ Q@IX|RAL2004 8 M20x1,5 20 72,3 51,3 30 205 8512 23 20 20 60
K1679.06102012 @ f0{ Q@X|RAL2004 10 M20x1,5 20 72,3 51,3 30 205 8512 28 20 20 60
K1679.06122012 @ f0{ Q@IX|RAL 2004 12 M20x1,5 20 72,3 51,3 30 205 8512 3 20 20 60
K1679.06041016 @ B2 & RAL 1021 4  M10 10 395 263 15 109 49 6 1 10 8 14
K1679.06051016 @ g2 =& RAL 1021 5 M10 10 395 263 1510949 6 13 10 8 14
K1679.06061016 @ g2 =2 RAL 1021 6 M10 10 39,5 2631510949 6 18 10 8 14
K1679.060410116  C B2 3 RAL 1021 4 M10x1 10 395 26,3 15 109 49 6 1 10 8 14
K1679.060510116  C g2 =& RAL 1021 5 M10x1 10 395 26,3 15 109 49 6 13 10 8 14
K1679.060610116  C B2 =2 RAL 1021 6 M10x1 10 39,5 26,3 15109 49 6 18 10 8 14
K1679.06051216 c g2 = RAL 1021 5 M12 12 484 31,119 12957 8 13 12 8 15
K1679.06061216 @ g2 =& RAL 1021 6 M12 12 484 3111912957 8 18 12 8 15
K1679.06081216 @ B2 2 RAL 1021 8 M12 12 484 31,119 12957 8 23 12 8 15
K1679.060512116  C g2 = RAL 1021 5 M12x15 12 484 31,119 129 57 8 13 12 8 15
K1679.060612116  C g2 =& RAL 1021 6 M12x15 12 484 31,119 129 57 8 18 12 8 15
K1679.060812116  C B2 3 RAL 1021 8 M12x15 12 484 31,119 129 57 8 23 12 8 15
K1679.06061616 C g2 = RAL 1021 6 M16 16 623 41526 166 7 10 18 16 15 35
K1679.06081616 @ g2 =& RAL 1021 8 M16 16 623 41526 166 7 10 23 16 15 35
K1679.06101616 @ g2 =@ RAL1021 10 M16 16 62,3 41526 166 7 10 28 16 15 35
K1679.060616116  C g2 = RAL 1021 6 M16x15 16 623 41,526 166 7 10 18 16 15 35
K1679.060816116  C g2 =& RAL 1021 8 M16x15 16 623 41,526 166 7 10 23 16 15 35
K1679.061016116  C g2 = RAL1021 10 M16x15 16 62,3 41,526 166 7 10 28 16 15 35
K1679.06082016 C B2 =& RAL 1021 8 M20 20 723 51,330 2058512 23 20 20 60
K1679.06102016 @ g2 =@ RAL1021 10 M20 20 723 51,3 30 205 8512 28 20 20 60
K1679.06122016 @ g2 =@ RAL1021 12  M20 20 723 51,3 30 205 8512 3 20 20 60
K1679.060820116  C B2 = RAL 1021 8 M20x1,5 20 723 51,3 30 205 8512 23 20 20 60
K1679.061020116  C g2 =@ RAL1021 10 M20x1,5 20 72,3 51,3 30 205 8512 28 20 20 60
K1679.061220116  C g2 =@ RAL1021 12 M20x15 20 72,3 51,3 30 20,5 8512 3 20 20 60
K1679.06041084 C MESWZRAL3020 4 M10 10 395 26,3 15 109 49 6 1 10 8 14
K1679.06051084 @ MEESWZRAL3020 5 M10 10 395 263 15109 49 6 13 10 8 14
K1679.06061084 @ MESWZRAL3020 6 M10 10 395 263 15109 49 6 18 10 8 14
K1679.060410184  C MEZSWZRAL3020 4 M10x1 10 395 26,3 15 109 49 6 1 10 8 14
K1679.060510184  C AMESWZRAL3020 5 M10x1 10 395 26,3 15109 49 6 13 10 8 14
K1679.060610184  C MESWZRAL3020 6 M10x1 10 395 263 15 109 49 6 18 10 8 14
K1679.06051284 C MESWZRAL3020 5 M12 12 484 31,119 12957 8 13 12 8 15
K1679.06061284 @ AMESWZRAL3020 6 M12 12 484 31,119 12957 8 18 12 8 15
K1679.06081284 C AMESWZRAL3020 8 M12 12 484 31,119 129 57 8 23 12 8 15
K1679.060512184  C MESWZRAL3020 5 M12x15 12 484 31,119 129 57 8 13 12 8 15
K1679.060612184  C AMESWZRAL3020 6 M12x15 12 484 31,119 129 57 8 18 12 8 15
K1679.060812184  C AMESWZRAL3020 8 Mi12x15 12 484 31,1 19 129 57 8 23 12 8 15
K1679.06061684 C MESWZRAL3020 6 M16 16 623 41526 166 7 10 18 16 15 35
K1679.06081684 @ MESWZRAL3020 8 M16 16 623 41526 166 7 10 23 16 15 35
K1679.06101684 C AMESWZRAL3020 10 M16 16 623 41,526 166 7 10 28 16 15 35
K1679.060616184  C MESWZRAL3020 6 M16x1,5 16 623 41,526 166 7 10 18 16 15 35
K1679.060816184  C MESWZRAL3020 8 M16x1,5 16 623 41,526 166 7 10 23 16 15 35
K1679.061016184  C AMES WZRAL3020 10 M16x1,5 16 623 41,526 166 7 10 28 16 15 35
K1679.06082084 C MESWZRAL3020 8 M20 20 723 51,330 205 8512 23 20 20 60
K1679.06102084 C MZSWZRAL3020 10 M20 20 723 51,3 30 20,5 8512 28 20 20 60
K1679.06122084 C MESWZRAL3020 12 M20 20 723 51,3 30 205 8512 3 20 20 60
K1679.060820184  C AMESWZRAL3020 8 M20x1,5 20 723 51,3 30 205 8512 23 20 20 60
K1679.061020184  C AMESWZRAL3020 10 M20x1,5 20 72,3 51,3 30 205 8512 28 20 20 60
K1679.061220184  C MESWZ RAL3020 12 M20x1,5 20 723 51,3 30 20,5 8512 3 20 20 60

3/5



°
bl
SZholuA ZRIX, EFR C
Z= 29
FEHS Etel A= AHAE D D1 D2 L L1 L3 B B1 H Fx30° SW1 éﬂﬁ Bty
et =2
F12£. N F22 N
K1679.06041086 C Al =M RAL 6032 4 M10 10 39,5 26,3 15 10,9 4,9 6 1 10 8 14
K1679.06051086 c Alad 4 RAL 6032 5 M10 10 39,5 26,3 15 10,9 49 6 1,3 10 8 14
K1679.06061086 C Ala'E =M RAL 6032 6 M10 10 39,5 26,3 15 10,9 49 6 1,8 10 8 14
K1679.060410186 C Alad =M RAL 6032 4 M10x1 10 39,5 26,3 15 10,9 49 6 1 10 8 14
K1679.060510186 c Alad =4 RAL 6032 5 M10x1 10 39,5 26,3 15 10,9 49 6 1,3 10 8 14
K1679.060610186 C Ala'd =M RAL 6032 6 M10x1 10 39,5 26,3 15 109 49 6 1,8 10 8 14
K1679.06051286 C Ala'd =M RAL 6032 5 M12 12 484 31,1 19 129 57 8 1,3 12 8 15
K1679.06061286 c A2 =4 RAL 6032 6 M12 12 484 3111912957 8 18 12 8 15
K1679.06081286 C Alad =M RAL 6032 8 M12 12 484 31,1 19 129 57 8 273 12 8 15
K1679.060512186 C Ala'd =M RAL 6032 5 M12x1,5 12 484 3111912957 8 1,3 12 8 15
K1679.060612186 c Alad S RAL 6032 6 M12x1,5 12 484 31119 129 57 8 1,8 12 8 15
K1679.060812186 C Alad =M RAL 6032 8 M12x1,5 12 484 31,1 19 129 57 8 2,3 12 8 15
K1679.06061686 C Ala'd =M RAL 6032 6 M16 16 62,3 41526 166 7 10 18 16 15 35
K1679.06081686 c Al =M RAL 6032 8 M16 16 62,3 41526 166 7 10 23 16 15 35
K1679.06101686 C Alad s RAL6032 10 M16 16 62,3 41,5 26 166 7 10 28 16 15 35
K1679.060616186 c Ala'd =M RAL 6032 6 M16x1,5 16 62,3 41,526 16,6 7 10 18 16 15 35
K1679.060816186 c Al =M RAL 6032 8 M16x1,5 16 62,3 41526 166 7 10 2,3 16 15 35
K1679.061016186 C Alad s RAL6032 10 M16x1,5 16 62,3 41,5 26 166 7 10 28 16 15 35
K1679.06082086 c Alad =M RAL 6032 8 M20 20 72,3 51,3 30 20,5 8512 23 20 20 60
K1679.06102086 c Al sMRALG032 10 M20 20 72,3 51,3 30 20,5 8512 28 20 20 60
K1679.06122086 C Alad s RAL6032 12 M20 20 72,3 51,3 30 2058512 3 20 20 60
K1679.060820186 C Ala'd =M RAL 6032 8 M20x1,5 20 72,3 51,3 30 20,5 8512 23 20 20 60
K1679.061020186 c Alad s RAL6032 10 M20x1,5 20 72,3 51,3 30 20,5 8512 28 20 20 60
K1679.061220186 C Alad s RAL6032 12 M20x1,5 20 72,3 51,3 30 20,5 8512 3 20 20 60
K1679.06041087 c 4= S @ RAL 5017 4 M10 10 39,5 26,3 15 10,9 4,9 6 1 10 8 14
K1679.06051087 C AE S o RAL 5017 5 M10 10 39,5 26,3 15 10,9 49 6 1,3 10 8 14
K1679.06061087 (o} AE S o RAL 5017 6 M10 10 39,5 26,3 15 10,9 49 6 1,8 10 8 14
K1679.060410187 C 4= S o RAL 5017 4 M10x1 10 39,5 26,3 15 10,9 49 6 1 10 8 14
K1679.060510187 C AE S o RAL 5017 5 M10x1 10 39,5 26,3 15 10,9 49 6 1,3 10 8 14
K1679.060610187 o} AE S I RAL 5017 6 M10x1 10 39,5 26,3 15 10,9 49 6 1,8 10 8 14
K1679.06051287 c 4= S o RAL 5017 5 M12 12 484 3111912957 8 13 12 8 15
K1679.06061287 C AES T RAL 5017 6 M12 12 484 31,1 19 129 57 8 18 12 8 15
K1679.06081287 C AE S T RAL 5017 8 M12 12 484 31,1 19 129 57 8 273 12 8 15
K1679.060512187 c ¢= S o RAL 5017 5 M12x1,5 12 484 3111912957 8 1,3 12 8 15
K1679.060612187 C AES o RAL 5017 6 M12x1,5 12 484 31,119 129 57 8 18 12 8 15
K1679.060812187 C AE S 1 RAL 5017 8 M12x1,5 12 484 31,1 19 129 57 8 273 12 8 15
K1679.06061687 c ¢= S o RAL 5017 6 M16 16 62,3 41526 166 7 10 18 16 15 35
K1679.06081687 C AES o RAL 5017 8 M16 16 62,3 41,526 16,6 7 10 273 16 15 35
K1679.06101687 C AMES I RAL5017 10 M16 16 62,3 41,5 26 166 7 10 28 16 15 35
K1679.060616187 c {= S o RAL 5017 6 M16x1,5 16 62,3 41526 166 7 10 1,8 16 15 35
K1679.060816187 C AES o RAL 5017 8 M16x1,5 16 62,3 41,526 16,6 7 10 23 16 15 35
K1679.061016187 C AES I RAL5017 10 M16x1,5 16 62,3 41,5 26 166 7 10 28 16 15 35
K1679.06082087 c A= S o RAL 5017 8 M20 20 72,3 51,3 30 20,5 8512 273 20 20 60
K1679.06102087 C MES I RAL5017 10 M20 20 72,3 51,3 30 20,5 8512 28 20 20 60
K1679.06122087 C AES I RAL5017 12 M20 20 72,3 51,3 30 205 8512 3 20 20 60
K1679.060820187 c {E S o RAL 5017 8 M20x1,5 20 72,3 51,3 30 20,5 8512 2,3 20 20 60
K1679.061020187 C AES D@ RAL5017 10 M20x1,5 20 72,3 51,3 30 20,5 8512 28 20 20 60
K1679.061220187 C AES o RAL5017 12 M20x1,5 20 72,3 51,3 30 20,5 8512 3 20 20 60
K1679.06041088 (o} 248t 3|M RAL 7035 4 M10 10 39,5 26,3 15 10,9 4,9 6 1 10 8 14
K1679.06051088 C 248t 3| RAL 7035 5 M10 10 39,5 26,3 15 10,9 49 6 1,3 10 8 14
K1679.06061088 C Q48h 3| M RAL 7035 6 M10 10 39,5 26,3 15 10,9 49 6 1,8 10 8 14
K1679.060410188 (o} 248t 3|M RAL 7035 4 M10x1 10 39,5 26,3 15 10,9 49 6 1 10 8 14
K1679.060510188 C Q48 3| M RAL 7035 5 M10x1 10 39,5 26,3 15 10,9 49 6 1,3 10 8 14
K1679.060610188 (o} Q48h 3| M RAL 7035 6 M10x1 10 39,5 26,3 15 109 49 6 1,8 10 8 14
K1679.06051288 C 43t 3| M RAL 7035 5 M12 12 484 3111912957 8 13 12 8 15
K1679.06061288 C 248t 3| RAL 7035 6 M12 12 484 31,1 19 129 57 8 1,8 12 8 15
K1679.06081288 (o} Q48h 3| M RAL 7035 8 M12 12 484 31,119 12957 8 23 12 8 15
K1679.060512188 C Q48 3| RAL 7035 5 M12x1,5 12 484 31119 12957 8 13 12 8 15
K1679.060612188 C 248t 3| M RAL 7035 6 M12x1,5 12 484 31,1 19 129 57 8 18 12 8 15
K1679.060812188 ] Q1% 3| RAL 7035 8 M12x1,5 12 484 31,119 129 57 8 23 12 8 15
K1679.06061688 C 248t 3| RAL 7035 6 M16 16 62,3 41,526 16,6 7 10 18 16 15 35
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/5



°
bl
K2 olHA =N, EfRl C
EZS 29
FEHS Eted THE MY D DI D2 L L1 L3 B BT H Fx30° SW1 A& B
ErSd 2
F12£. N F22 N
K1679.06081688 C 243 3[M RAL 7035 8 M16 16 62,3 41,5 26 16,6 7 10 23 16 15 35
K1679.06101688 (o} 248t 3|M RAL 7035 10 M16 16 62,3 41526 166 7 10 2,8 16 15 35
K1679.060616188 C Q48 3| RAL 7035 6 M16x1,5 16 62,3 41,526 16,6 7 10 1,8 16 15 35
K1679.060816188 C 248t 3| RAL 7035 8 M16x1,5 16 62,3 41,526 16,6 7 10 2,3 16 15 35
K1679.061016188 ] 1%t 3| RAL 7035 10 M16x1,5 16 62,3 41,526 166 7 10 28 16 15 35
K1679.06082088 C 248t 3| M RAL 7035 8 M20 20 72,3 51,3 30 20,5 8512 273 20 20 60
K1679.06102088 C 243t 3| M RAL 7035 10 M20 20 72,3 51,3 30 20,5 8512 28 20 20 60
K1679.06122088 ] Q1%t 3| RAL 7035 12 M20 20 72,3 51,3 30 20,5 8,5 12 3 20 20 60
K1679.060820188 C 248t 3|M RAL 7035 8 M20x1,5 20 72,3 51,3 30 20,5 8512 273 20 20 60
K1679.061020188 C Q48 3| M RAL 7035 10 M20x1,5 20 72,3 51,3 30 20,5 8,512 28 20 20 60
K1679.061220188 ] Q1st 3| RAL 7035 12 M20x1,5 20 72,3 51,3 30 20,5 8,5 12 3 20 20 60

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

5/5



